|_R
O
| S—
o
4 €
€ °r'g 8YLYNL
S00VAH _
SYLUNL zed
800VAH B!
Flelgl 54 0
1 o @
i z €
AOOV/L ) @ e
€ o' 8YLYNL
pro /e S00VAH _
o & SYLUNL e 4]
2 10 800VAH _ »
9 [+ paxe 41 ERA
= A0B/00E o )
z24 0 z €
* (=] @
z € O] SYLYNL
S00VAH _ »
Vs 8YLENL €za
800VAH _ » TSA
[l R
o 12
1240 z €
AOOVIL ) o 2 b
Z € D] 8YLYNL
759 800VAH _
a Vs 8YLINL Zza
2 €10 \ | 800VAH _ »!
S [ [elgl 240
= A0B/00EE a @
024 0 [3 €
B oy 8YLYNL
800VAH _
8YLUNL 0¢d
800VAH B!
[l 54 0
1 o @
AOOVIL ord ™0 z €
%] € o'y SYLENL
5 S00VAH _ »
2 110 SYLUNL - sza Pt
S [ 800VAH _ B il
= A0B/00EE N gl 4 A o0sy
e ) M
L = AN
ifD & [0
N 28
4 3 8
AOOVIL v & o <]
LIz
1o o
o
2 60 — a o
S [+ [ €
= A0B/00EE € o
o'y 8YLENL
8YLUNL S00VAH _
800VAH B! szaPt
ziaPt
g 0
R o 2
[4 €
A0OVIL o'y 8YLUNL
SYLUNL S00VAH _
) 800VAH B Iza
a art
2 0 | 2200
S [+ A o 2
= A0B/00EE z €
oS 8YLYNL
SYLUNL 800VAH _ .
800VAH B! k<) 41
[ g1 TSN
96y 0
A — o )
[3 €
- oy 8YLYNL (%]
AOOVIL 8YLYNL 7 800VAH _| <
800VAH » < 0za |
9] 5a W1 o
o 5o 0
2 jso DA — o 2
2 eTomm 1 . > ¢ ¢
= A8/ z €
/ oy 8YLENL
oV'g 8YLUNL S00VAH _|
800VAH _ »
sa P1
(52 0 [=)
DA — o @ g
4 z € 2
€
_ oy 8YLENL
8YLUNL S00VAH _
800VAH 4 - 5za
a Pt al O 6vY
o 0 o 0
A Z NN AR
o< ¢
-
b=t y
tg ? zL18
0 s -
O]
2
o]
2
&
e w )
S *m 2 o S 2l o s
X B o
il y 4 i y -
o o o L,ﬁ o o L,ﬁ o 3 3 8 2 9
| o o g g | o L* =
rElo o o & 7 S [
5 5|8 L g hi L g X X
3 2|2 = B 8 rag == B 1 3 . I R~
> 2|z —ag |& 5|8 £ 5|3 ——afg |5 5|8 & g 8
g g |5 3|2 3 3|2 g |3 3|2 5 17 Iy
I 3 77 2 e 5|z e s w, 3] 77 Irs e 5|z o S < o < L L
=1 N A i 2 i T 9 i 2 9 z = o 3 ——
|2 |2 |2 ) =lo =18
~|lz Z|&’ g2 2|8 ez Z|& 5 5 1]
Myz 5/ £|% S| £|% HERIS s 323 3|2 bs{ 177
— S| >3 2
= o O ~ o 2 = | &
<] - N I ~ o ~ o N I ~ N - @
s © WW WW nd - WW M3 mww.ﬂww,w
-~ T a & v.mA:vL o T > >|25> > — [e)
2 2 mol 2
; 1 = A ik
- 3= 3= o
BV B Iq] T
134SON
s.AnBasip S S S S
< S o &
3 5 g 2
§ o o @ o
z
12}
s XX £
>
=3 2 | [
>
3
L - - - -
o o « ./ﬂ of v 2| o of = o
R 2 2 & ¢ 9 2 T 2 o o N o v o -
o o °
=
s

J8
TFB

VFB

+5V

GND

+12V

GND.

2HO

Vs2

2L0

1HO

vs1
Lo
GND
IFB

EGS002

FOD3182



